Name Date

g Homework Practice C 3NS2.2 )

Multiply by 6 g
5
Multiply. g
1.6 x 4 = 2.3x6=___ %
3.6x8=__ 4. 4x6=______ S
5.6 x0=___ 6.6 x1=___
7.6 x9=__ 8.9x6=___
9.5x6=___ 10. 7 x6=___
Solve.

11. Brad's rabbit has 6 whiskers on both sides of its face. How
many whiskers does the rabbit have on its face?

12. Jan has 4 insects in a jar. Each insect has 6 legs each. How
many legs in all?

Multiply. (Lesson 5-1)
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13.3 x9=___ 14. 3 x7=___
15.6 x3=__ 16.5x3=__
17.4 x 3 =__ 18. 8 x3=__
19.0 x3=___ 20. 7 x3=___
2.3 x2=__ 22. 3 x4=___
23.3x8=___ 2.9 x3=___
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